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QUESTION 1

Which two are prerequisites for creating a standby database using Enterprise Manager cloud control?
A. The primary database must have FORCE LOGGING enabled.

B. The primary database must be in archive log mode

C. A backup of the primary database must exist.

D. The primary host and the proposed standby database host must run the same operating system.
E. The primary database instance must be started using an SPFILE.

F. The primary database must have flashback enabled

Correct Answer: AB

QUESTION 2

In which two cases is it possible to change the protection mode to maximum protection using Enterprise Manager Cloud
Control?

A. a snapshot standby database is the only standby database in the Data Guard configuration.
B. A logical standby database is the only standby database in the data guard configuration.
C. A far sync instance is the only Data Guard configuration member receiving redo in synchronous mode.

D. Flashback is not enabled for either the primary database, the standby database, or both in the Data Guard
configuration.

E. The primary and standby databases are hosted on different operating systems.

Correct Answer: BE

QUESTION 3

Examine the Data Guard configuration: Identify two possible reasons for this error.
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DGMGRL = show configuration,
Configuration-Animals
Protection Mode: MaxAvailability

Databases:

dogs- Primary database

dogsfsl —Far Sync

sheep- Physical standby database

Fast-Start Failover: DISABLED

Configuration Status:
SUCCESS

An attempt to enable fast-start failover raises an eror:

DGMGRL> enable fast_start failover,

Error: ORA-16693: requirements not met for enabling fast-start failover
Failed.

A. The FastStartFailoverTarget property is not set on Sheep.
B. The FastStartFailoverTarget property is not set on Dogs.

C. The FastStartFailoverTarget property is not set on DogsFSI.
D. The LogXptMode property is set to ASYNC on Dogs.

E. The RedoRoutes property is not set on Dogs

F. The RedoRoutes property is not set on DogsFSI

Correct Answer: AD

QUESTION 4
Which two statements are true for Data Guard environments with mufti-tenant databases?
A. Different pluggable databases within a logical standby database may have different guard statuses.

B. The Data Guard broker automatically always opens the pluggable databases of a standby database after a role
change operation.

C. The Data Guard broker automatically opens all pluggable databases of a primary database a role change operation.
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D. The CDBDBA privilege must be used instead of the SYSDBA privilege for connections as SYS to the root container
of a multi-tenant standby database.

E. A multi-tenant standby database can have fewer pluggable databases than the primary container database

Correct Answer: CD

QUESTION 5
A query on the view DBA_LOGSTDBY_UNSUPPORTED on your primary database returns several rows.
As a result of this, you decide that an upgrade may not use logical standby databases

Which three are true about upgrading Data Guard environments consisting of one physical standby database running on
a separate host from the primary?

A. The upgrade requires downtime until the upgrade of the standby is completed.

B. The broker must be disabled during the upgrade

C. With manual upgrade, catupgrd.sgl can be executed on the primary and standby databases simultaneously.
D. The upgrade requires downtime until the upgrade of the primary is completed.

E. The new release of the Oracle Software must be installed on both the primary and standby database hosts
F. Redo Apply on the standby database must be stopped while the primary database is upgraded.

G. Fast-Start Failover can be used to protect the primary database during the upgrade.

Correct Answer: BDE
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